

MOR CONSTRUCTION, DR 621 EAST BAYITE CHAPL COLUMBIA, MS 19422 PHONE 601,731 7716 FAX: 601 731 2774

October 29, 2018

Mr. Clint	Brown
Flordia Pa	iblic Utilities

Invoice # "

Week Ending October 28, 2018
Foreman Eugene Breland
Storm Number FE1890469751430

			·	
Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69,99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
Egulpment		Qty	Price	Total
Crew Cab Pick-u	ap .	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
Dozer		112.00	71.50	8,008.00
Rope Rig		112.00	25.00	2,800.00
Tension Trailer		112.00	25.00	2,800.00
		To	tal Equipment	34,214.88
		Tot	al Due to MDR	79,507.68

was interpretation of their



Foreman **Eugene Breland**

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilitles

	Men a	nd Ho	urs					To	tals			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	8	S	RT	OT			
Eugene Breland	+16	16	18	16	÷16+	16	16		1112			Foreman
Nathan Richle	16	16	16	16	16	16	16		112			Lineman
Heath Truett	16	16	16	16	16	16	*16		112	47		Lineman
Mark Breland	16	16	16	16	16	16	16		112	CONTRACTOR OF THE PARTY OF THE	21232	Operator
Thomas McCardle	16	16.	18	18	16	16	16		112			Groundman
						10 P						resources and the second
		200 - 37 j	## ## W					2.7.7				The second second
					27 no 14							

in the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet.

200	Additional Information									
Monday	G00/AM=10:00(PM)									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	6/Q0 AM - 10:00 PM									
Thursday	6:00 AM - 10:00 PM									
Friday	6/00 AM x10/00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6:00 AM, 10:00 PM									

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics

					EQUI	PMEN	7		
Equipment #	M	T	W	T	F	S	S	To	From
568 Crew Cab Rlokup 🗼 🤲	16	(i)	16	416	16	16	(6)		
714 Material Handler Bucket	16	16	16	16	16	16	16		
627 Material Handler Bucket	18	16	118	18.	16	-18	16		
712 Digger Derrick	16	16	16	16	16	16	16		
567-Polé Trailer	/(6)	181	(15)	16.	18	16	16		
431 Rope Rig	16	16	16	16	16	16	16		
53 Tension Trailer	16	118	16	16	1(8)	16	16		
592 Bulldozer	16	16	16	16	16	16	16		
Production of the second secon									

Please include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer. MDR Construction



Foreman Eugene Breland Job No FE1890489751430

Week Ending 10/29/2018 Location Fforda Public Utilities

	Men a	ad Ho	178					70	tals	2			
Weekday	22	23	24	25	26	27	28					Weals	Other
Employee Name	M	T	W	T	. F	8	8	RT	OT	S			
Eugene Breland	16	16	16	16	16	16	18				Line-Foreman		
Nathan Ritchle	16	16	16	16	16	16	16				Line-Journeyman		
Healh Truelt	16	16	16	18	18	18	16				Line-Journeyman		
Mark Breland	16	16	16	16	18	16	18				Equipment Operator		
Thomas McCardle	16	16	18	18	16	16	16				Line-Groundman		
			11 11 11 11										
											U do sidili haya aya qaraqa qaray qara da sa		
in the appears provided above the													

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by pulling the other Foreman's initials in the corresponding space. Please add up the total hours for each amployee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple tob days in Additional information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Inform	matton
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed, if you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each,

				EC	UIPM	ENT	**********	
Equipment#	M,	T	W	T	F	S	S	
566 Crew Cab Pickup	16	16	16	16	.16	16	16	10.
714 Material Handler Bucket 55	18	18	16	16	16	16	18	IV.
627 Material Handler Bucket 65'	16	16	16	16	18	16	16	17/0
712 Digger Derrick	16	16	16	16	16	16	16	1/2" / 1
587 Pole Trailer	16	16	16	16	18	16	18	1 110
131 Rope Rig	18	18	16	16	16	16	16	10/30111
53 Tension Trailer	16	16	16	16	16	16	16	1/41
92 Bulldozer	16	16	16	16	16	18	16	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Grews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for trews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the MDR Construction.

C-101

Foreman Jayann Bretand Men. and Hour W. John PE 1880489781430	Foreman Jayaon Breland	anticatoms And and and	JOHN S	PE/180046078	1430
---	------------------------	------------------------	--------	--------------	------



MOR CONSTRUCTION, INT 621 EAST BAYJIS MAAPL COLUMBIA, MS 39427 COLUMBIA, MS 39427 FAX: 601,731,2774

October 29, 2018

Mr. Clint Brown	
Flordia Public Utilites	

Invoice #	
Week Ending	October 28, 2018
Foreman	Eric Jefcoat
Storm Number	FE1890469751430

		•		
Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
	10.792.20		Total Men	45,292.80
Equipment		Qty	Price	Total
Crew Cab Pick-L	p 77 77 .	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
Log Skidder w/ G	rapples	112.00	72.60	8,131.20
Rope Rig	2,855.00	112.00	25,00	2,800,00
Tension Trailer		112.00	25.00	2,800.00
		Tota	al Equipment	34,338.08
		Tota	Due to MDR	79,630.88

TOTAL BOOK INDICATOR SWA



Eric Jefcoat FE1890469751430 Foreman 10/28/2018 Location Florida Public Utilities Week Ending

	Men a	nd Ho	urs					To	tals			
Weekday	22	23	24	25	26	27	28			Meals	Motel:	Other
Employee Name	M.	T	W	T	F	S	S	RT	OT			
Erile Jefcoat	· 18 ·	16	16	16	16	:16	16		≤112.		(1) (1) (2) (2)	Foreman
Dekoven Wright	16	16	16	16	16	16	16		112			Lineman
Ryan Wood	16	16	16	4 16	16	-16-	16	32.5	112			Lineman
Ashton White	16	16	16	16	16	16	16		112		2000	Operator
Tanner Carpenter	16	16	16	16	16	16	18		112			Groundman
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			Ru B.							27.9		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
The second secon		10 S				(1-7 4)					- Ç4.	(18 8 7 P.) (18 8 7 P.)
							1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1					

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other, Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Monday	(6)00/AM-:10:00 PM									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	8:00 AM-10:00 PM									
Thursday	6:00 AM - 10:00 PM									
Friday	8(00/AM = 10)00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6:00 AM - 10:00 PM									

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular tob please give specifics for each,

					EQUI	PMEN	7		
Equipment #	IVI	T	W	T	F	S	\$	To	From
648 Grew Gabi Flokup	416	/18	16	(6)	(16)	716	16		
658 Material Handler Bücket	16	16	16	16	16	16	16	Process Commission of the Comm	
584 Malerial Handler Bucket :	46	.,16	. 16	16	16	46	16		The property of
717 Digger Derrick	16	16	16	16	16	16	16		
455 Pole Trailer	118	18	16	16	16	16	-16	ACT OF THE PARTY O	
517 Rope Rig	16	16	16	16	16	16	16		
712 Tension Trailer	16	16	16	-16	416	16	16		The second
251 Pull Skidder	16	16	16	16	16	16	16		
				6 m				27 6 8 15 15 E 50	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

C-101

MDR Construction



Foreman	Eric Jefcoat	Job No	FE1890469751430
Week Ending	10/28/2018	Location	FPU Marianna Hurr. Michael

	Men ai	nd Hoi	ure					To	tals			
Weekday	22	23	24	25	28	27	28			Meals	Motel	Other
Employee Name	M	T	W	1	F	S	8	RY	or			
Ed Jefcoat	16	16	16	18	16	16	16					Line Foreman
Dekoven Wright	16	16	16	16	16	16	16					Line Journeyman
Ryan Wood	18	18	16	16	16	18	16					Line Journeyman
Ashton White	16	16	16	16	16	16	16					Equipment Operator
Tanner Carpenter	16	16	16	18	18	16	16		ones:	***********		Line Groundman
anti epita			,		.,,							
MALERIA MALERI							4 t - 19 mar		11 m #4#			
									.,,			, , , , , , , , , , , , , , , , , , ,

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meets is located at the bottom of this sheet.

	Additional Infor	nation
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna
Saturday	Start 6:00 am thru 10:00 pm	Working at Madanna
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifies for each.

			77.		EQUI	PMEN	T		
Equipment #	M	T	W	T	F	3	8	To	From
648 Crew Cab Pickup	10	16	18	16	16	16	16		
658 Material Handler Bucket	16	16	16	16	16	16	16	. 1/ :	
584 Material Handler Bucket	16	16	16	18	16	16	16	1 Xan	
717 Digger Derrick	16	16	16	16	18	18	18		
455 Pole Trailer	16	16	16	16	16	18	16	11/01/1	
517 Rope rig	16	16	16	16	16	16	16	10/30	
712 Tensioner Trailer	16	16	18	16	16	16	16		
251 Pull Skidder	16	16	16	16	16	16	16		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night.

Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last MDR Construction

Weekly Timestiset



MOR CONSTRUCTION, UR 621 EAGT BAYLIS PHAPE COLUMBIA, NS 19429 PHIBE 601.731 2746 PAX: 601.741,3774

October 29, 2018

Mr. Clint Brown		Invoice #	
Flordia Public Utilites			October 28, 2018
Engrals Edan Charlisty			Brian Chambley
			FE1890469751430
Overtime	Qty	Price	Total
Foreman	112.00	100.49	11,254.88
Lineman	224.00	84.65	18,961.60
Operator/Truck Driver	336.00	69.99	23,516.64
Groundman	112.00	64.62	7,237.44
		Total Men	60,970.56
<u>Equipment</u>	Qty	Price	Total
Crew Cab Pick-up	112.00	24.31	2,722.72
Material Handler Bucket 57'	224.00	47.36	10,608.64
Digger Truck	112.00	47.36	5,304.32
Pole Trailer	112.00	17.60	1,971.20
Service Truck	112.00	35.75	4,004.00
LowBoy Trailer Double Axle	224,00	33.55	7,515.20
Tractor Truck	288,00	45.65	13,147.20
	То	tal Equipment	45,273.28
कर रहत है। इस कुट के देवे	Tot	al Due to MDR	106,243.84



Foreman Brian Chambley CONSTRUC

FE1890469761430

Week Ending

10/28/2018

Location

FPU Marianna Hurr. Michael

	3										
Weekday	22	23	24	25	26	27	28		2		Other
Employee Name	M	T	W	T	F	8	S	RT	OT	als	
Brian Chambley	16	16	16	16	18	18	16				Line-Foreman
Will Ford	16	16	18	16	16	16	16				Line-Journeymen
Tim Eubanks	16	16	16	18	18	16	16	000.1-0-11-0			Line-Journeyman
Shane Milchell	16	10	16	10	16	18	16	- AND LAW ARRESTS -			Equipment Operator
CJ Freeman	16	18	18	16	16	16	16		ALL LEGISLA	ALVINOZON.	Line-Groundman
Gage Kelf	16	16	16	16	18	16	16			- Andrewson	Equipment Operator
Peyton Miller	16	16	18	16	16	18	18				Equipment Operator

		\neg					$-\parallel$				

in the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crow members worked with another foreman, indicate this by putting the other foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	. Additional information										
Monday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL.									
Tuesday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL.									
Wednesday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL,									
Thursday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL.									
Friday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL.									
Saturday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL.									
Sunday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL.									

List above any additional information needed. If you work on several clouds specify how many hours on each circuit or each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular top please give snoothes for each.

				E(QUIPM	ENT		
Equipment#	M	T	W	T	F	S	S	
636 Crew Cab Plokup	16	16	18	16	16	16	16	
558 Material Handler Bucket 55'	16	16	16	16	10	18	16	1 100
588 Malerial Handler Bucket 55'	16	16	16	16	16	18	16	1 : 10
561 Digger Denick	16	16	16	16	16	18	18	Not 1
483 Pole Trailer	16	16	16	16	16	16	16	100118
337 Truck/747 flatbed trailer	16	16	16	16	16	16	18	10 301
514 Service Truck	16	16	16	16	16	18	16	And the second of the second o
185083 Haul Truck/407(ow Iralle	16	16	18	16	16	16	16	**************************************
3398 Tractor Truck	16	16	16	18	Х	Х	X	District the second sec

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crows that drive to their job on Sunday are entitled to one meal for that night, Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the washed to be paid for the afternoon of the last day of t



Foreman

Brian Chambley

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs					To	tals			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Brian Chambley	118	-16	16	116	18	16	418		112			Foreman
Will Ford	16	16	16	16	16	16	16		112			Lineman
Tim Eubanke	16	46.	.16	16	18	16	116		-112	X		Lineman
Shane Mitchell	16	16	16	16	16	16	16	I PAGE AND A SALES	112			Operator
CJ Freeman	16	16	18	.16	16	16	16		112			Groundman ***
Gege Kelf	16	16	16	16	16	16	16		112			Operator
Reyton Miller	16	16	46	16	16	16*	16		112			Operator
							4	S II n		****		State State State
**************************************							ST 4 5		O O			and the second s

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information, Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information
Monday	6/00/AM:-/(0):00/PM
Tuesday	6:00 AM - 10:00 PM
Wednesday	6:00/AM 10:00 PM
Thursday	6:00 AM - 10:00 PM
Friday	6:00 AM - 10:00 PM
Saturday	6:00 AM - 10:00 PM
Sunday 😁 🖠	0.00 AM - 10.00 PM

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

					EQUI	PMEN	T		
Equipment #	M.	T	W.	T	F	S	S	То	From
686 Orew Cab Pickup	(16)	, il 8	16	16	16	16	16	The state of the state of	
558 Material Handler Bucket	16	16	16	16	16	16	16		WEST CONTROL OF THE STATE OF TH
588 Malerial Handler Bucket	16	//16	16	16	-16	46	16		Language Company
561 Digger Derrick	16	16	16	16	16	16	16		
483 Pole Trailer	-16	16	16	18	116.	16	16		
637 Tractor Truck	16	16	16	16	16	16	16		
747'Lowboy Trailer	18	16	16	16	16	16	16		
185083 Tractor Truck	16	16	16	16	16	16	16		
514 Service Truck	169	18	16	**16	16	18	16		
107 Lowboy Trailer	16	16	16	16	16	16	16	White column is the second sec	
Basa Tractor Truck	16	16	16	16	X.	X	X		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mandays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foremen's credit card, unless meals are supplied by the customer.

Wookly Timesheet

MDR Construction



MOR CONSTRUCTION ING 623 CAST GAYLIS CHAPS COLUMBIA, MS 19429 PHIME 601,771 F716 FAN' 601 731,8774

October 29, 2018

Mr. Clint Brown	1		Invoice #	
Flordia Public U	Itilites		Week Ending	October 28, 2018
			Foreman	Jayson Breland
		S	torm Number	FE1890469751430
Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254,88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman	7,287.44	112,00	64.62	7,237.44
Total Nan			Total Men	45,292.80
Equipment	75.03	Qty	Price	Total
Crew Cab Pick-	ıp qı	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304,32
Pole Trailer		112.00	17.60	1,971.20
Rope Rig		112,00	25.00	2,800.00
Tension Trailer		112.00	25.00	2,800.00
	25,525,53	Tota	l Equipment	26,206.88
		Total	Due to MDR	71,499.68



Foreman

Week Ending

Jayson Breaind 10/28/2018

FE1890469751430

Location

Florida Public Utilities

G-101

Market	Men a	nd Ho	urs					To	otals			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
ayson Breland	16	16	16	16	16	16	16		1112			Foreman
Villiam D'Andrea	16	16	16	16	16	16	16		112			Lineman
Ionald Plarce	16.	16	-16	16	*16	16	16		112		x 8+!	Lineman
lyan Edwards	16	16	16	16	16	16	16	parameter	112	2022	TETAL STATE	Operator
áylor Boyle	16	16	16	16	-16	16	. 16		1112			Groundman
11 (11 (12 (12 (12 (12 (12 (12 (12 (12 (16 to 1			3,110			4 4 4 6 6 H 20 6 6	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
			(a) (1/1)	int se								4.4
								No.				

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the boltom of this sheet.

plus a marinina	Additional Information									
Monday	600, AM)-10:00 PM									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	6(00 AM : 10:00 PM*									
Thursday	6:00 AM - 10:00 PM									
Friday	6:00:AMx (0:00:PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	L 6:00 AM - 10:00 PM -									

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

					EQU	PMEN	7		
Equipment #	M	T	W	T	F	S	S	To	From
697 Grew Cab Pickup	-16	16	16	(13)	16	161	16		
582 Material Handler Bucket	16	16	16	16	16	16	16		
743 Material Handler Bucket	16	16	16	16	118	16	18		
725 Digger Derrick	16	16	16	16	16	16	16		
881 Pole Trailer	16	16	16	16	18	16	16		A Company
563 Rope Rig	16	16	16	16	16	16	16		
516 Tension Trailer	46	16	16	16	118	16	16	**************************************	
			-		ara ara	A			
						-1 6			

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

C-101

FPUC-HM - 00765



Foreman Jayson Breland Job No FE1890409751430

Week Ending 10/28/2018 Location FPU Marlanna Hurr, Michael

	Men a	To	tais	7							
Weekday	22	23	24	26	26	27	28			Meals	Other
Employee Name	M	T	W	T	F	\$	S	RT	OT	िं	
Jayson Breland	16	18	16	16	18	16	16				Line-Foreman
William D'Andrea	16	16	16	.16	16	16	16				Line-Journeyman
Donald Plerce	16	16	16	16	16	16	16				Line-Journeyman
Ryan Edwards	16	16	16	16	16	16	18				Equipment Operator
Faylor Boyle	16	16	16	16	18	16	16			,	Line-Groundman

In the spaces provided above fist all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Fereman, indicate this by putting the other Fereman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overitime. If you worked on more than one job during the week please specify days on each job under Additional information. Daive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Inform	nation
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 8:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several circuits specify how many hours on each circuit or each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

				E(QUIPM	ENT	
Equipment#	M	T	W	T	F	S	3
697 Crew Cab Pickup	18	16	16	16	16	16	16
582 Material Handler Bucket 56'	16	16	18	18	16	16	16
713 Material Handler Bucket 55'	16	18	16	16	16	16	16
726 Digger Derrick	18	16	16	16	16	116	16
631 Pole Traller	16	16	16	16	16	16	18
563 Rope Rly	16	16	16	16	16	18	16
516 Tension Trailer	16	16	16	16	16	16	16
							- 10
			10017	-			

Please include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay three meals per day for crews working out of lown. Crews that drive to their job on Sunday are entitled to one meet for that night, Meals for Monday mornings will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these quistalines. All meals for nimitories on storm work should be charged on the MDR Construction.

Weekly Timesheet



MOR CONSTRUCTION VIII
621 CAST BAYETS CHAPE
COLUMBIA, MS 19427
PHONE 601.731 2716
FAX: 601.731.2774

October 29, 2018

Mr. Clint Brown
Flordia Public Utilites

Invoice #	
Week Ending	October 28, 2018
Foreman	Jeremy Kirkland
Storm Number	FE1890469751430

			, ionii itailise	122000100702100
Overtime	Vesof	Qty	Price	Total
Foreman	1721.33	112.00	100,49	11,254.88
Lineman	28,951.60	224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		176.00	64.62	11,373.12
			Total Men	49,428.48
Equipment		Qty	Price	Total
Crew Cab Pick-	JD	112,00	24,31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
out and the property of	20,003.20	Tot	al Equipment	20,606.88
		Tota	al Due to MDR	70,035.36

www.tacoptwaretter.tree.times



Foreman

Jeremy Kirkland

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

C-101

	Men and Hours								tals			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	8	S	RT	OT			
Jaramy Kirkland	16	16	1(6)	16	116	116	16		1112			Foreman
Dustin Philips	16	16	16	16	16	16	Х		96			Lineman
Chris Whiddon	.16	16	16	16*	1416	16	16		1112			Lineman
Colby Holcomb	16	16	16	16	16	16	16	2-05/12/23/2	112		13000-194	Operator
limmy Brown	16	16	16	16	16	16	16		112			Groundman
cach Fortenberry	16	16	16	16	Х	X	X	Chapter Const.	64	NAME OF TAXABLE PARTY.	2350000	Groundman
Aalt Chisholm 🛴 🕌	X.	X	X	Х	Х	Х	18		16			Uhéman
Agriculture of the state of the				je ua i deste						(54 (54		

in the spaces provided above list all employees full name and hours worked. Days missed by an employee should be marked with an X and not a zero, if one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information, Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet

	2.57.47	Additional information
Monday	6:00/AM - (10:00/PM)	
Tuesday	6:00 AM - 10:00 PM	
Wednesday	6:00 AM - 10:00 PM	
Thursday	6:00 AM - 10:00 PM	
Friday	6(00 AM - 10(00 PM)	
Saturday	6:00 AM - 10:00 PM	
Sunday	(5)(00/AMA-3(0)(00/FIM)	

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular lob please give specifics for each

		***********			EQUI	PMEN	7		
Equipment#	M	T	W	T	F	S	S	To To	From
682 Crew Cab Pickup	16	116	16	1(6)	46	(c)	46	4.03	
722 Material Handler Bucket	16	16	16	16	16	16	16		STATE OF THE PARTY
975 Majeria) Handler Bucket	, 16	16	16	18	18	16	18	and the second second second second	
565 Digger Derrick	16	16	16	16	16	16	16		
384 Pole Trailer	16	16	16	16	16	16	16		
and the second s	# ************************************		2 (A)						
No.								The Arthurs	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

C-101



Foreman Jeremy Kirkland

Job No

FE1890469751430

Week Ending

10/28/2018

Location

FPU Marianna Hurr, Michael

	Men ai	id Ho	irs					To	tals			
Weokday	22	23	24	26	26	27	28			Meals	Motels	Other
Employee Name	M	T	W	T	F	S	8	RT	OT			
Jeremy Kirkland	16	18	16	16	16	16	16					Line Foreman
Dustin Phillips	18	16	10	16	16	16	X					Line Journeyman
Chris Widdon	16	16	16	18	16	16	18					Line Journeyman
Colby Holcomb	16	16	16	16	16	16	16					Equipment Operator
Jimmy Brown	16	18	16	16	16	16	16					Line Groundman
Zach Fortenberry	16	16	16	16	Х	Х	Х					Line Groundman
Malt Chisolm	X	X	X	Х	X	Х	16					Line Journeyman
				IVE 177				1,3 · 3 · 0 · 0°2				The state of the s
recommended and control of the second	~											Andrew Charles and the Antonion Commission

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as eventime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Info	rmation				
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL				
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL				
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL				
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL				
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL				
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL				

			-		EQUI	rmun			
Equipment#	M	T	W	T	F	8	8	To	From
682 Crew Cab Pickup	18	18	16	16	16	18	16		
722 Material Handler Bucket	18	16	16	16	16	16	16		•
676 Material Handler Bucket	16	16	16	16	16	16	16	1 3 / 100	0
565 Digger Darrick	16	16	16	16	16	16	18	Ty Ty	1
684 Pole Traller	18	16	16	16	16	16	16	1 .114	1,10,20,7112222.
								13010	4
								\ \\	
			1						11.0
• Exercise and the factor of the factor		.,							

Please include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that right. Meals for Monday membrings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please ranch your mails such wask according to these guidelines. All meals for ampliyage of storm work about the charged on the forements credit and weekly illustrated.



MOR CONSTRUCTION, IN 621 EAST BAYIS CHAPE COLUMBIA, MS 19420 PHIDNE 601.731.2776 FAN: 601.731.2774

October 29, 2018

Mr. Clint Brown
Flordia Public Utilites

Invoice #	
Week Ending	October 28, 2018
Foreman	Clif Johnson
Storm Number	FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		208.00	84.65	17,607.20
Operator/Truck	(Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	43,938.40
Equipment		Qty	Price	Total
Crew Cab Pick-	up 72,772,72	112.00	24.31	2,722.72
Material Handle	r Bucket 57'	224.00	47,36	10,608.64
Digger Truck	12,305.62	112.00	47.36	5,304.32
Pole Trailer	2,971.20	112.00	17.60	1,971.20
arrige for all	4,000,000	То	tal Equipment	20,606.88
		Tot	al Due to MDR	64,545.28

- - |



Foreman Clif Johnson

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

Men and Hours									Totals			
Weekday	22	23	24	25	26	27	28			Meale	Motei	Other
Employee Name	M	T	W	T	F	S	S	RT	OT.			
Olli Johnson	16	16	16	16,	16	16	(6)		412			. /Foreman
lames Alford	16	16	16	16	16	16	16	1	112	400000000000000000000000000000000000000	Paradonia and	Lineman
Allen Cowart	16	16	16	16	-16 -	116	X		96			Lineman
Dustin Hudson	16	16	16	16	16	16	16	(COLUMN	112	- AMERICAN COMP	2000000	Operator
len Necalse	16	18	16	167	(16)	16	16		112			Groundman
		ar area	7. Y						7 y 2 i		4 # 37 3 # 2 # 3	
		fer so										

in the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with enother Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information, Regulations for reporting meals is located at the bottom of this sheet.

102	Additional information	POR A
Monday	6:00 AM - (0:00 PM	
Tuesday	6:00 AM - 10:00 PM	March 1
Wednesday	8:00 AM - 10:00 PM	
Thursday	8:00 AM - 10:00 PM	10000
Friday	6:00/AM10:00/PM	
Saturday	6:00 AM - 10:00 PM	
Sunday	BIO0:AM # 10:00:PM	

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

					EQUI	PMEN	T	•	
Equipment#	M	T	W	T	F	S	8	To	From
864 Crew Cabi Pickup	16	16	// ([6),	- 118	(3)	(1)	16		
659 Material Handler Bucket	16	16	16	16	16	16	16		
666 Material Handler Buckets	(16	16	16	16	16	40	16		
716 Digger Derrick	16	16	16	16	16	16	16		
661 Pole Trailer	-116 -	(6)	46	116	46	18	18		
aria de la companya d La companya de la co								off and desired the second second	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer. MDR Construction



Foreman Cliff Johnson Job No FE1890469751430

Week Ending 10/28/2018 Location FPU Marianna, Hurr.Michael

Men and Houre							Totals						
Weekday	22	23	24	25	26	27	28			Meale	Motet	Other	
Employee Name	M	ŢŢ	W	T	F	8	8	RT OT				Oilloi	
Cilff Johnson	16	16	16	16	16	18	16	-				Line-Foreman	
James Alford	16	16	16	16	16	16	16		,			Line-Journeyman	
Allen Cowart	18	16	16	16	16	18	X					Line-Journeyman	
Dustin Hudson	16	16	16	16	18	10	16					Equipment Operator	
Ben Necalse	18	16	18	16	16	18	18	·~···				Line-Groundman	
								I MARKET P.C.					
		20.1											
											_		
				9	-+					<u> </u>	-		
										.			
n the apaces provided above its	hall and place												

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the lotel hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one jeb during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meals is located at the bottom of this sheet.

Monday	Additional Information	
	Stert 6:00 am thru 10:00 pm	Working at Marianna, FL.
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thureday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each,

Street Building Control of the Contr					EQU	PMEN	T		
Equipment #	M	7	W	T	F	8	8	70	Prom
654 Crew Cab Pickup	16	16	18	16	18	18	16		The state of the s
859 Material Handler Bucket	18	18	16	16	16	18	16		
656 Maleriel Handler Bucket	16	16	16	16	16	16	16	1	mm=5+++++++++++++++++++++++++++++++++++
716 Digger Derrick	18	16	16	18	16	16	16		
861 Pole Traller	16	16	16	16	16	16	16	1/9/ 1/20 1	
				110				- 10121	
			Digital Chi						
								4-75	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night.

Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last weekly timesheet.